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In this contribution we provide our views on the RRM performance requirements for Rel-18 TDCP measurements. 
Discussion

In the previous meeting following agreements were made for the test case (TC) definition:

· Define the same test case for both 15kHz with FDD and 30kHz with TDD in the same sub-clause.
· Channel models: TDL-A30
· Doppler: 
· Two TCs with low and high Doppler
· TC1: low (10 Hz) for both 15kHz and 30kHz SCS
· TC2: high
· Option 1: high (300 Hz)
· Option 2: 100 Hz for 15kHz SCS, and 200 for 30kHz SCS
· BW: 
· 10MHz for FDD and TDD
· SNR:
· Option 1: 20dB for TC1
· Option 2: 10dB or 20dB for TC2
· The separation between two TRSs: 1 slot
· Report index: Bring CR for both options, make decision in the next meeting
· Option 1:
· lower Doppler: CDP at X1 is higher than Y1 = [90] %
· high Doppler: CDP at X2 is lower than Y2= [10] % 
· X1, X2, Y1, and Y2 can be different for TDD and FDD
· Option 2:
· [X1, X2] for Y2= FFS

TDCP RRM test configuration:

Frequency: 3.5 GHz

SNR and doppler:
We think running tests for one lower Doppler and one higher Doppler makes sense. In last meeting 10 Hz doppler at SNR of 20 dB is agreed for both 15 and 30 kHz SCS. To make sure SNR coverage in lower region, we prefer defining a test for 300 Hz Doppler at SNR of 10 dB. 


Test metric:

· Report index: Bring CR for both options, make decision in the next meting
· Option 1:
· lower Doppler: CDP at X1 is higher than Y1 = [90] %
· high Doppler: CDP at X2 is lower than Y2= [10] % 
· X1, X2, Y1, and Y2 can be different for TDD and FDD
· Option 2:
· [X1, X2] for Y2= FFS

In last meeting two approaches are proposed. We provide our analysis and our preference for both approaches below.

Option 1: If we understand the option 1 correctly, option 1 is based on the principle that at lower doppler TDCP correlation value should be high, and the value UE reports should be higher than X1 for 90% of the times. At higher doppler, TDCP correlation value is expected to be low and 90% of the times UE is expected report a value lower than X2. We think this method works well based on the value we choose as X1, X2 and Y1, Y2

Option 2: In this option we choose lower bound (X1, which 10% of the CDF) and upper bound (X2, 90% of the CDF) based on the companies’ simulation results and UE should report within X1 and X2 Y2% of the times to pass the test.

We think both options can work well based on the X1 and X2 values chosen in the test requirements. 

Proposal 1:  For the test metric, both option 1 and 2 will work well based on the X1 and X2 values. RAN4 to choose between option 1 or 2 based on the values chosen for X1, X2.

Proposal 2:  RAN4 to agree on the following test configuration 

· Freq: 3.5 GHz
· Doppler and SNR combinations: (10Hz, 20 dB), (300Hz, 10 dB)


Summary and Conclusion
In this contribution we analyzed the methods to define TDCP accuracy requirements and made following proposals. 
Proposal 1:  For the test metric, both option 1 and 2 will work well based on the X1 and X2 values. RAN4 to choose between option 1 or 2 based on the values chosen for X1, X2.

Proposal 2:  RAN4 to agree on the following test configuration 

· Freq: 3.5 GHz
· Doppler and SNR combinations: (10Hz, 20 dB), (300Hz, 10 dB)
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Annex

	Doppler [Hz]
	SNR [dB]
	Companies results
	Ideal value

	10
	5
	0,7028
	0,7243
	0,902291
	0,995415
	0,983412
	0,7069
	0.99975


	
	10
	0,8715
	0,8757
	0,970982
	0,996408
	0,992663
	0,8881
	

	
	15
	0,9516

	0,9587
	0,991936
	0,994709

	0,996049
	0,9611
	

	
	20
	0,9809
	0,9862
	0,997
	0,995189
	0,998341

	0,9873
	

	30
	5
	 
	0,7166
	0,903111
	0,987968
	0,981535
	0,7106
	

	
	10
	 
	0,8811
	0,968989
	0,990522
	0,991117
	0,8862
	

	
	15
	 
	0,9552
	0,989825
	0,984471
	0,994646
	0,9609
	

	
	20
	 
	0,9842
	0,995
	0,983903
	0,997191
	0,987
	

	200
	5
	0,6182 
	0,5908
	 
	0,853547
	0,937058 
	0,6747
	0.90371 


	
	10
	0,8002
	0,7646

	
	0,85233
	0,949576

	0,8557
	

	
	15
	0,895
	0,8532
	
	0,856702
	0,952684
	0,9339
	

	
	20
	0,9322
	0,8935
	0,902
	0,855079
	0,954907
	0,9592
	

	300
	5
	0,5976

	0,551
	 
	0,768931
	0,893131

	0,644
	0.78996


	
	10
	0,7648
	0,7138

	
	0,772939
	0,90208

	0,8031
	

	
	15
	0,8555
	0,7892
	
	0,778584
	0,905922
	0,9019
	

	
	20
	0,8913
	0,8216
	0,807
	0,782067
	0,90851
	0,9264
	




